NOTE: DOUBLE TRACK LOW MAX 10'=2” WIDE X 18'-0" HIGH REVISIONS
HEADROOM, HI—LIFT TRACK, : ; ;
FOLLOW—THE~ROOF TRACK, MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) REV. NO.J ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
Qgg XVEEBPQ&E L(')"“gﬂgi‘\SCK MODELS 524, 520/ 224/ C4ST, COST _ 08 ~ | 05/2005 -~ - UPDATE CODE REF., SPECIFIED OPTIONAL ACRYLIC.
3" TRACK ALSO AVAILABLE. INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, COSS, C4SV 09 - 10/2005 - - ADDED ROLLER OPTION
HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED 10 - | 11/2008 - - ADDED MPC; UPDATED JAME ATTACHMENT.
BY DOOR INSTALLER) CLOSES ROLLER CHANNEL. 11 - | 0z/2012 - - UPDATED WINDCODE CHART
INTERMEDIATE HANGER REQUIRED FOR DOORS IF
HORIZONTAL TRACK DEFLECTION EXCEEDS 12 — | 08/2012 - - REVISED FOR TDI
1/240TH ©F THE DOOR HEIGHT 13 - | 06/2013 ~ - REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED GLAZING DIMENSIONS.
/] ' : : ; ' SECTIANS ARE 1-7/8° THK PANELS ROLL
7 \//\\//\\//\\// FORMED OF .622° MIN. HOT DIPPED
% 7 GALVANIZING, ROLL FORMED STEEL. ADJUSTABLE TOP ROLLER BRACKET
/-@ NUMBER OF OF 12 GA. GALV. STEEL, INSTALLED
/ : I : THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE ON DOOR WITH (4) #14 X 5/8° LG
/ i DUOR WIDTH CENTER WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE SHEET METAL SCREWS
/ GALY STEEL TRACK STILES % 4 Vi OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
TN — & % Y IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
[k NI A M UP 1O 9'-2 1 REGIONS (REF. CHAPTER 16 FBC/IBC)
T 9'~37 THRU 10'-27 c _’ | -—I |
" — ” * - THIS DOOR MEETS OR EXCEEDS THE DESIGN
GALVANIZED STEEL OEER O . ALouon Tt oo A+ Lok fon O lnip PGS sTep eelow
il TRaCK SECTIONS DOOR HEIGHT &' |'sFerins SECTIONS AVALABLE (1/8 DS8) FULL VISON 08 86 {SCE) o THE FOLLOWNG 3" X 20 GA. GALV STEEL U-BAR
VERTICAL - .060 MIN UrP TO 8-0" 4 SECTIONS TO HAVE 2" X 2" X 1/8" L—ANGLE HAS 2' OF WIDTH IN BUILBING'S END ZONE,
[PENING g'~3* THRU 10°-0* 5 HORIZONTAL REINFORCEMENT. | —ANGLES 3% IMPORTANCE ;:ACTQR OF 1.0, 4) ROOF SLOPE
HEIGHT 'l VERTICAL TRACK CAN BE 107-37 THRU 127-0° & ATTACHED TO THE REINFORGING RIB WITH (2) LESS THAN 107, AND 5) 50% SAFETY FACTOR
12/=3%. THRU 14'~0* 7 /4720 X 5/8" HEX HEAD BOLTS AND NUTS WIND SPEED (MPH) 5 310 120 120 130
>. ggmg&u%%%mj\ﬂc liviEO%(J)i\éT, {2 3,' THRU 16/—g* 3 AY EVERY HINGE LOCATION. EXPOSURE LEVEL B or C B C B
- - . MEAN 3 ! 20 !
REVERSE ANGLE TRAGK. 16/=3* THRU 18°—0° 9 EAN RGOF HEIGHT! 30 30 0 36

314~ TYPICAL

ALL TRACK BRACKETS AND
TRACK CLIPS ARE 12 GA.
GALV. STEEL. BRACKETS AND

MAX. SECTION HEIGHT: 24"

3" x 20 GA. GALV. STEEL U-~BAR.

SECTION U—-BARS ATTACHMED AT EACH STILE LOCATION WITH
(2) 1/4" x 3/4" SELF-TAPPING SCREWS

ONE U—BAR PER DOOR UPTIINAL INSULATION

(SEE MZDEL EXPLANATIUN)—\
| CTR-CIR CUPS ARE ATTACHED TO TRACK .
1 WITH_EITHER TWO 1/4" RIVETS s ot () secia < Sorews A oo mong |
I.l _L_ I OR ONE 2/4_'1 BOLT. CENTER OF £ACH HINGE CENTER OF EACH HINGE :?lmw é-
T3z S % END ROLLER HINGES DF MIN,
14 GAUGE 14 GAUGE 14 GA GALV. STEEL, FASTENED WITH
SIDE ELEVATIMON CENIER HINGES  A——4 END HINGES (4) #14 X 5/8 LG, SHT. MTL. SCREWS
AND (4> 1/47x3/4* SELF-TAPPING SCREWS,
STANDARD-LIFT TRACK DETAILS \o/ OPTONAL 24" x & -l
& N e Y e L e | T POLYPR{)PYLEN; SCREW
18 GA. MIN. GALV. Lohews ot () ALong 1L—"1  TocETHER FrAME TYPE \ . o
18 GA. MIN. GALV. END STILE. FASTENED TO CORNERS OF EACH HINGE A [ —— [ rals DSB WINDOW LITES 2 10 BALL &éEfﬁ‘T M&ST{ZEL
CENTER STILE. DOOR SKIN WITH . ; . AVAILABLE. ROLLER WH‘H ;§§»F§€lf 'ﬂR N'Y‘frwé .
FASTENED TO DOOR TOG-L~LOC SYSTEM. 3/16” M. MAY BE BACK— i1k g 2 M——— | R R TIRE 7 % oy S *v, B
SKIN WITH TOG—L—LOC STEEL JAMB FILLED WITH i i o o A
SYSTEM. CONCRETE, 8UT a2
iy N NOT REQUIRED. 2 z ) 2 A L j
< ﬁ S W sl 7 _ éf g
f ' 1/8"%1" LONG 6 T \ g
/ FILLET WELD (EBOXX -
14 GA. GALV. ELECTRODE MIN.). WELD TWO POINT BN
CENTER HINGE g?{ iﬁcli%cngEoﬂvemlcmv LOCKING REQ'D t
FASTENED WITH ; . !
. 12 GA. GALV. REVERSE . &
SECTION 22 (4) #14x5/8 CENTER AND 1/4° T [N
SECTIIN 222 (0 A vetac D TOE G AouE 1 9% COMNUUS MGiE | 517 Max |—aar TP 517 Max |— BOTTOM RECEER SRACKET PP 13087
SCREWS. DIRECTLY TO STEEL JAMB GALV, STF_EL, RASTENED, |, WETH ¢
g W . r s
O ST BISTANGE. WIUEST ANCHOR. NaTALLED. KT AT &S o A8 THE. DOOR. OBEa. HCLDED RTINS MAX. DOOR WIDTH: 10°-2 BOTTOM SECTION REINFORGED WITH / #l4 X S/8° LG Sm’?"‘m SeRevrs
WOOD JAMB ON CONCRETE CONCRETE JAMBS T WOOD JAMBS TEMPERED ALUMINUM EXTRUSIIN WITH
2,000 PSI MIN 2,000 P51 MiN SRECTAEENG ST 3107 Wi, see § eIt/ N INTEGRAL RETAINER FLR FLEXIBLE @ DESIGN LOADS: +30 & —30 P.SF.
CONCRETE CONCRETE JAME /_ EhaeD LAG sorew, |THE DESION oF THE \ TEST LOADS  +45 & ~45 P.S.F.
3/8" DIA. x t-1/2" 1 /&34 1—-1/8" WASHER MARK WESTERFIELD, P.E.
MIN. EMBED SLEEVE 1/4°x1=1/2" MIN, MAY BE BACK-~FILLED /4% REQ'D. 24" MAX., IELEMENTS IS THE RESPONSISILITY
ANCHOR. WASHER INCLD. Eh/&ﬁExD séf—mppms ¥TH CONCRETE, BUY EE;EJAPP'NG Q.C. TO SECURE  [OF THE BUILDING ENGINEER OR %35%”’?: E E#9ﬁ458495 NG PE. #as832, SECTION 1 —1 :ﬁ:}g}gc TERTE) gaﬁn_uclr ECE;DES
24" MAX. 0.C. comcmznz ANCHGR, NOT REQUIRED FOR 24" MAX. 0.0 248 WOOD JAMB [ ARCHITECT OF RECORD. sl LR 17 1 i
70 SECURE 2x6 JAMB | WASHER REQ'D. SELF TAPPING SCREW. s SECU.RE' . TO WOOD - A
[ awtl ¥ Cgﬁf?ﬁf‘é NEEDED SHRE 22 b ANGLE TO g'TSHgT}JFRE{EEQED U"‘ESSESRtE;f Qtftorwise ﬁl ﬁﬁ?g’n 955‘34?82'“65? WINDLOAD RATING
5% Mit. EDGE DIST. ’ 10 ggg%%%rémw ' STEEL. JAME. oL CES are |3 opay e 955080 \/\/ 5
/ : . 3" MiN. EDGE DiST. CLOPAY CORP 0 = £ .03 Building Products Company Fax No. 513-770-4853
isgﬁaﬁm%ygﬁ OR CONTINUOUS BRACKET HOUNT OR CONTINUOUS ALL RIGHTS RESERVED. 0'88 = i-gég DESCRIPTION: COMMERCIAL RIBBED DOOR, +/— 30 PSF DESIGN LOAD
ANGLE MOUNT TRACK FASTENED . = *.
&}Lgésv gizNéJR BPEJTERW REVERSE OR " TO 2x6 #2 OR BETTER 0000 = £+ .001 PDRAWN BY: RUK DATE: 4/19/99 | SCALE: NOTED |pwg.
JAMB W CONTINUQUS REVERSE OR CONTINUGUS YELLOW PINE JAMB WITH _ .
ONE 5/16"x1-5/8" 16, ANGLE MOUNT TRAGK ANGLE MOUNT TRACK ONE 5/16"x1-5/8" LG, Third Anal Degrees = £1/2° |CHECKED BY: Mww DATE: 4/99 SHEET 1 OF 1 [SIZE
LAG SCREW PER BRACKET FASTENED DIRECTLY FASTENED DIRECTLY LAG SCREW PER BRACKET rd Angre Unless Staled Otherwise
OR TRACK CLIP LOCATION. TO CONCRETE. TC STEEL JAMB. OR TRACK CLIP LOCATION. Projection DIMENSIONS ARE IN INCHES.] DWG. NO.: 101875





